CHMI51 (Q33) 25 Pts Fall 2008 Name: )’( ey —
SHOW ALL WORK TO RECEIVE CREDIT. v
Molar Masses you may need: H 1.01; C 12.01; N 14.01; O 16.00; S 32.07, Co0 58.93; Cu 63.55

1. (4 Pts) Complete and balance each of the following reactions:

a _ HAOG + 3 KoH@) — 3 M0 @) + Ky AsO¢ (8
b 2 HiAsOLaq) + _3 BaOHueq) — 6 H, 0 (1) + qu ASZM/ )

2. (4 Pts) Determine the molar mass of each of the followiug'

a. Co(NOs), b, CuSOs-5H,0

Lgx jg00 = F6.66 Lg x/g06= 96.60
\ La\xIH,O‘ Lzo x 1.0 10}
1¥5893 | x32,07  3L0T
192.9T — \ x625% 63.5¢
299,13
3. (2 Pts) Calculate the percent oxygen in Co(NOs),.
96,00 -
X)oo =52.477
192,95
4. Analysis of a compound gave the following percentages: C 26.7% H 2.2% 071.1%
a. (4 Pts) Determine the compounds empirical formula.
Acg ume 0“93 <o '091‘3@} /Dbﬁ

‘ 36“7 mol = 2,2 = =]
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é_l_l_g_,L_/'*_o'_—' &)S;Q&Q: \
! bl}
O‘ 1"_1‘ mo\ %’17“1"’ = .1
b. (2 Pts) Its molar mass was f(gmd to be 90 g/mole. What is the molecular formula?

meler CHOLY 4T | 6 90 % 402 s 50

5a. (6 Pts) The Ostwald process can be used to manufacture nitric acid, HNO;. Given the following equation,
determine how many grams of nitric acid can be produced from 47.2 grams of nitrogen dioxide.

3NOy(g) + H,0() — 2HNOs(ag) + NO(g)
972 ¢ 2&

47.2 LJM\QWw:ZE,
W/[L/g,o: | Zmalwo, | pmrtren 3.1 5 Hwo,

b. (3 Pts) If 8.2 moles of NOx(g) are used with and excess of water, how many moles of nitric acid can be formed?
30, + HaO ~— 2 HNOy + O
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CHMI151 Q3b 25Pts Fall 2008 Name: /2<4215,4/
SHOW ALL WORK TO RECEIVE CREDIT. v
Molar Masses you may need: H 1.01; C 12.01; N 14.01; O 16.00; S 32.07; Co 58.93; Cu 63.55

1. (4 Pts) Complete and balance each of the following reactions:

a ___ HPOaq) + -3 LiOH(ag) — 3 H_LO(Q) + L 3 pu‘/ W)
b 2 HPOG) + 2 _CaOmua) » G My 00) + (Cay (P Oab "

2. (4 Pts) Determine the molar mass of each of the following'

a. Cu(NOE)z b. COSO4 5H20
G x 16.00
L“W'Ol Lq)‘/é,oa
| ¥63.55 jox .01
) I x32.07
3. (2 Pts) Calculate the percent oxygen in Cu(NOs),. oY S’r [
9¢.60
2o ¥ 00 = 51187,
197,57 :
4. Analysis of a compound gave the following percentages: C 26.7% H 2.2% 071.1%

a. (4 Pts) Determine the compounds empirical formq_la.__\

See Quiz 3o @

b. (2 Pts) Its molar mass was found to be 90 n_fo o

’;*38 Q-u¢ 3 a

5a. (6 Pts) The Ostwald process can be used to manufacture nitric acid, HNO;. Given the following equation,
determine how many grams of nitric acid can be produced from 67.2 grams of nitrogen dioxide.

is the molecular formula?

3NOx(g) + H,0() — 2HNOs(ag) + NO(g)
672; ¥

TG | ot A0L| 2 0oHIN03| €300 9 WUy = (1 17,
- IL/GO/?/{] 3 mol My | PID .1

b. (3 Pts) If 12.2 moles of NOy(g) are used with and excess of water, how many moles of nitric acid can be formed?
3Mox + Mo > 2oy + A0
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